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(a) Write your Roll No. on the top immediately
on receipt of this question paper.

T4 UT-UF % OIS B 9 gAY 9X {9
Aw Ha7 o F

(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.
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1. (a)

The question paper is divided into two
Sections. :

% ge-95 & sl § fwe B

Attempt five questions in all, selecting
three questions from Section-A and two
questions from Section-B.

FHA drEF g9 HA 8, A9 T @Us-H |
Ty A U @ve-q dl o
Use of simple calculator is permitted.

TIUROT HAgAeT & FERT H TFERT B

Section - A

O - H
Consumer’s consumption bundle is described
by (x,,x,). His money income is ¥100 and price
of good 1 (p,) is ¥10 and price of good 2 (p,) is
%10. :
IUHIHT B ITENT F=A (x,,x,) ERT affa
fopar sram ® 1 S AfZw g 100 T ¥ oY
] 1 @ FEa (p,) 10 T & S awg 2 &l
HHd (p,) 10 T B

(i) How does his budget constraint

change when government gives lump-

sum subsidy of ¥50 regardless his
consumption behaviour ? 1

2
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S IoTE GRET B T Smr § 7
S EI{HR TP IUFNT G DI

F W@ T 50 % @ wwgw w36
2

(ii) How does his original budget
constraint change when the
government gives subsidy of ¥ 5 per
unit on good 1. 1

mﬁawm%@ww%?
ST R 9% 1 9% 5 T 9fy s 3
afest 3 3

(ili) Compare his utility levels in case (i)
and (ii) if his utility function is u(x,,x,)
XX 3
% IEH AT Bes u(x,,x,) =
xx, 8 @ Rafr (i) o (i) ¥ ==
SYAFET W B ger FT

(b) A consumer always consumes one unit of

good X with 2 units of good Y.

m@mwxﬁ@m%mw
Y # X SHEA B SUERT HIr B

(i)  Write her utility function. 1
IR IYGET e o
3 P.EO.
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(c)

(a)

(ii) If price of good X is ¥5 and price of
good Y is ¥10. He has to spend all his
money income of ¥200 on goods X and
Y only. Find the optimal consumption
of X and Y. Illustrate diagrammatically.

4

ST X @i #\a 52 8 o axg Y

H HAT 10T T | ITHEN I TGO

S 2008 &t % avg X X axg Y )

Td HI Bl OGRI XS TG Y &

FeedH IUHENT B G s | R &

Zetgd |
What do assumptions of monotonicity and
convex ty imply about the shape of
indifference curves ? Does the utility
function u(x,y) = x + y? satisfy these
assumptions ? : 2.3
FEEAFREY X SaRIar @ "AFIreT Hr
A Geh Y omfy & ek F = fAfeard
T ? T I9AIET B uxy) = x + y2 &9
AT H IS BT & 7
A consumer consumes two goods X and Y
and her preferences are described by the
utility function u(x,y) = /x + y. The
consumer’s money income is M. Price of good
Xis p, and price of Yis p,.

4

(b)
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TH IqAErHl & aegell X ST Y @ SUHRT
Far B IR Sue alEad SuAIfEr wee
ux,y) = Jx *+y T afla ¥ Sude
AfRp oM M B a%g X3 FHod p, XY
El?fﬂﬁ'ﬂﬁpy%l

(i) Derive the inverse demand function for

goods X and Y. 4

TG X AR Y & R 507 oo eI
o A ;
(ii) Graph the Engel curves for goods X and
: A § o
awg X ox Y & R o @ difeg

Price and consumption of three goods in 2015
and 2017 are given as under :

Prices Quaﬁtlty
Goods 2015 2017 2015 2017
A 10 15 100 110
B 5 20 S0 80
C 15 10 150 120
5 P.T.O.
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Calculate the Laspeyres quantity index and
show consumer is better off or worse of in
2017 as compared to 2015. 4

2015@?2017ﬁ?ﬁ?ﬂ§6ﬁﬁm@1
STHRT A Frrgar Rar @ ® o

A | HIAT

agid | 2015 | 2017 2015 2017

A 10 il oS 100 110

B 5 20 50 80

C 15 .10 150 120
AT H AET GABH B OTOET B SR
ﬁ@qaaaqﬁwzowffzmsaﬁrgamﬁ
F|A AT gAY B

(c) Draw and explain the shape of indifference

curves when (i) one of the two goods is a
neutral good, (ii) one of the two goods is a
bad and (iii) consumer has a satiation point.

22 )
FerFar g difte ot amer St s (i)
g aegelt ¥ § o do 9% ©, (i) T aege
H Qo g axg & Sl (iii) IUHRHT B 9=
o gof g &g B

6
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3. (a) If a consumer’s utility function is

u(x,y) = x2 + y2 and his money income is ¥400.
has to spend on only two goods X and Y, the

- price of X is ¥20. Using diagrams :

ST SYHIRAT Bl ITAIRRT B u(x,y) = x? + y?
2 ok Sus AfZS oma 400 B St FA@ &
gegell X o Y WX @ &rit B, X & Sid
20 B | oT@l H IYENT HC BT -

(i) Find the optimal choice when price of Y
(p,) is T25. ;
gean faeea @St S9 Y @t a%’ma (p,)

25% %n - ; 2
(ii) Find the optimal choice when price of Y
(p ) is T16. | R

geeaq faseq @St S Y @ @Ed (p)
163 81
(iii) Calculate substitution and income

effects for the good Y when p decreases
from 25 to 16. 2

g Y 3 Re sRwmes X o gwEr @
,Wﬁﬁap,25@w16aﬁﬂ?ﬁ
L A

7 P.T.O.
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(b) “As wage rates increase, supply of labor may

(c)

4. (a)

increase or decrease. But, when ‘overtime’
wage rate increases, labor supply always
increase”. Explain with suitable diagrams.
4
Tl A & F gfe B HRor em A off F
s ar Fh & wwdt B AT ofReT e
T @ el & X gfe B ror ey oft

- whwr gfx A B oftra e & arer gwemd |

What is Hicksian compensated demand
curve ? Why does the utility remain the same
at every point of this compensated demand

curve in contrast to ordinary demand
curve ? 5

ferar 1 aifrges =T @6 ) ¥ ? @rERer g6
% & Aol a0 st w4 @ 3 =< fig
T IYGIET TH T Fh Tl & ?

Suppose that a consumer has the utility
function u(c,, c,)=c, ¢, ; where c, is
consumption in period 1 and ¢, is
consumption in period 2. His income is
¥1,000 in period 1 and ¥1,200 in the period
2. He can borrow and lend at the market
rate of interest. If the objective is to optimize
utility by choice of consumption over time.

8
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a9 IR 5 o SuWRer B O SuA
% u(c,, ¢,)=c, ¢, & STl ¢, FHI-S@ 1 F
ST ¥ ol o, THE-omEiy 2 F ITHAT B
IFE o wHg-ew@fy 1 # 1,000 ¥ 8l
qeg-emafy 2 7 1,200 B 1 98 =191 & AR
2T 9T IY @ GHaT & AT IYR T |l B
ofy IRed Fg & WY IGAIFET FEH ST
99 & |
(i) Determine whether the consumer
would need to borrow or lend money
if rate of interest is 20% and there is
no inflation. 2
afe =T a7 20% B Sl gRIEdier @
® o FufRa ®¢ @ STHRm @ IR
A T SuR 3 & oTavFET § AT
et |
(i1) How his choice of consumption over
time will change when rate of interest
increases to 40% and there is no
inflation. 2
S ST @ & 40% % qG ST §
A g ey € B A T B
[T ITART P I THE b FEer T ?

9 P.TH):
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(iii) Calculate the substitution effect,
ordinary income effect and endowment
income effect of change in the rate of
interest on c,. 4
c, W =91 & ¥ uRecs & uRkraa=
q9Tg, QYT S ¥ S SSIeHC

ST FHIE @ IO HifoTd |

(b) An individual has three investment options

X, Y and Z; (i) return from option X is of
T 1,000 with certainty, (ii) return from option
Y is 21,500 with the probability 1/3 and
2600 with probability 2/3 and (iii) return from
option Z is ¥1,000 with the probability 1/4
and return of ¥1,000 with probability 3/4.
Calculate the expected return of these
investment options. 2

o =fs & U FRw 3 &9 R X, Y ok
2% ()X foed & Rftar & @9 1,000
s et Py ®, (i) e Y @ 1/ sfteman
3 @™ 1,500% X 2/3 wifawm & @
600% et @ dwraer & o7 (i) feea Z @
1/4 wif¥epar & @ 1,000 T 3N 3/4 Sifdesar
& @ 1,0003 et & dwrear B g9 PR

fepeal @t erafera Rest &t o #X)
10
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(c) Graphically explain any one method of

managing risk other than insurance.

5
@3‘# P TEEA F AT D o SRy e
T 3 et W @ T i s B

Section - B
gs - g

S. (a) Let a production function be f(L,K) = (L2 +

K'2?)2 and Let F(L,K) = [f (L,K)?. Here L is

labour and K is capital. : |

:gr I?La?qmvf BT {(L,K)= (L2 + K/2)2 o

* K) = [f (LK)]® &) 987 L o

el | _ g ok K

(i)  Does f(L,K) exhibit constant returns to
.sca.lc, decreasing returns to scale or
Increasing returns to scale ? 2
(LK) ¥ & Rex gityger =

F Ted ofrwer @ S g
gortar & ? el

(ii)  Does F(L,K) exhibit constant returns

to _scale, decreasing returns to scale
Or increasing returns to scale ?

2
11 P3O,



1 F(LK) = & e gfows, ==
% Fed ufaed a1 YN P ged ufhe
geriem B 7

(iii) What does this functional
transformation teach you about the
shape of isoquants and RTS (returns
to scale) ? 2
T8 HA-g 9REcT S9! THSUIE -ash
HI gy X RTS (P 3w )
F AR 7w REmr § 7

(b) Let f(L,K) = K+L+2/(KL) , here L is labour

and K is capital.

af% f(L,K) = K+L+2 /(KL), 7T L 2% ® &R K
gett B

(i) Deriving the slope of isoquants test for

the convexity/concavity of the curves.
3

TH-JIE To6 & T H T FA 8T,
IR /AR H S BN |

(ii) Compute the cross partial derivatives

and comment. 2
8 o7ifdrp otapesit @ ToFT HE ST
ool v

12

(c)

(a)
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Let q = KL?- L3 q > 0, where q is quantity of
output, K = units of capital and L = units of
labour. Sketch the AP, and MP, curves
carefully noting, slope and convexity/
concavity. 4
gt q = KL?-1L*®; q > 0, 58l q Ie &t
AqET 8, K = Goft ot gebrgdr oK L = 3@
SHIEAT & | SO ST Gehl Bl I~ /TaELr
o H @A g A@EuEIgEs AP, 8K MP,
gent B o SR |

Let total cost be given by C = qw'/?v!/2 (there

q is output, w is price of labour and v is rental

price of capital.);

i Ha @ C = qwV/AV/2 BT & T ¥

(STET q IcarasT @t A= 8, woSH P B qer

v 0 & Rl @ dma B);

(i) Use Shephard’s Lemma to arrive at the
contingent demand function for labour

and capital with ‘W’ as wage rate and Vv’
as rental cost of capital. 2

ABHET AT FH ITET HW T T AR
ot & T =/ it #ma W (Feed @
&) AR Tt &t fmn @rm v B G
FieTore A e fepienT |

=13 PR
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(ii) Use these contingent demand functions

to arrive at the production function.

(i1)
4

swafl%aw?qﬁwﬁréﬁrnﬁhmﬁgq

IEEA B Fepifea |

(b) Discuss the following properties of total cost

function :

== FHift

(i) Total cost is non decreasing in output

and input prices.

2,2
@mwaﬁﬁwﬁr{mh&m&ﬁaﬁ
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Use the input demand (contingent) so
derived to arrive at the total cost
function. 3

ST ST ST (HfeASie) FOIUAT B

g@awwﬁﬁﬁﬁ@ml

7. (a) Let demand function be q = ap®; where q is
output and p is price of output.

afy w7 e q = ap®; STl q ST H AR

(1)

Wﬁqﬁ;aﬂ'(aﬂwa?mﬁrﬂqi%

FE AT W HH TE B B

(ii) Total cost is concave in input prices.

(c) Letq=(L+K)'? (where qis quantity of output,

ST il Hieei H HA @R TGEY

K = units of capital and L = units of labour).

Iy q = (L+K)7 (8T q IS #H HEr O,
K = o0 ol 36153l AR L = = 3t 3amedi )|

(1)

Derive the input demand function

- (contingent) for labour. 2

m%mmmw(m)
T BT |

14

(i)

(iii)

T p I B B B

What is the economic interpretation
of b ? Verify using the demand curve.

2
b &t anffes aATEAr /T ¥ ? T 9% H
ITENT FA Y Fead L
When is MR positive and/or negative ?
Relate this to’b’. 3
MR %a oS /AT FONED & 7
TEaH b Helfdd AL |
If a firm is maximizing its profit, where

will it produce ? Explain in terms of
elasticity of demand. 3

Ify o wH g @9 @ AT B
@ B, & g% FEl I HON ? ACT
# A B el F aEssd |

15 P.T.O.
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(b) Let q=AK?/5L%/5; (where q is quantity of
output, K = units of capital and L = units of
labour). Derive the input demand function
in terms of price of output (P), price of labour
(w) and price of capital (v).

A =iy . 7
afe AK?SLY5; (WEf q Sras @t amEr 2,

K = Goft 3t sopmal oR L = o9 9t sor=ar

8)| S B (p), w9 #H BT (w) oix

T B BT (v) B Gl T o S wer

ST HifoTT | | ‘

16 _ 3000




